0-1. BU ¢(z,y,2) = 322y — 322 TRIND L ZE, 1 (1,-2-1) BT B Vo 2Rk k.
0-2. g =Inl7| TRINDBLE Ve 2KDE. ZITF=axityj+z2k TH5.

0-3. ¢ =223y%t TRINDB L E, (1) VV¢ (div gradg) DIz RD L. (2)VV = V3¢ 72
% Z LR
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where V' = ox? * Oy? + 022

0-4. A = 2%yi — 2xzj +2yzk 725 & F curl curlA %R k.

0-5.p=1/7| LT Ve ZRD K. TZTr=uait+yj+zk TH5.

0-6. V2(1/|7]) =0 w2 Z & %Y L. 2ZCr=xi+yj+zk TH5.

0-7. 65U A =wzi —yzj +ayzk TRIND L EN (1,-1,1) 1T 5 VA(divA) 23K L.
0-8. XRDOA % GEHIE XK.

(1) V x (V¢) = 0(curl gradp = 0), (2) V(V x A) =0 (div curlA = 0)



